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Answer the Questions from any one Option.

’

OPTION -A :
( Plant Anatomy and Embryology )
) Paper : BOT-HG-4016
] L ~ OPTION-B

( Economic Botany and
Plant Biotechnology)

~ Paper : BOT-HG-4026

For Regular Core
- (Plant Anatomy and Embryology)
Paper BOT—RC-4016

Full Marks : _60
Time : Three hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.
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OPTION - A s () What is cambium ?

(Plant Anatomy and Embryology ) : | : SRUSHIDNCH |
Paper . BOT-HG-4016/BOT-RC-4016 . e ' (99 What are sunken stomata ?
1. Answer very briefly : : 1x7=7 fefeere sfavg@m &2
ARSI ' 2. Write briefly : sk : 2x4=8
(a) What is the only living cell present in =il . :
xylem tissue ? S ol ¢
GiETe 9 GG Give PR {52 (@) Quiescent centre (R =)
(b) Write the type of vascular bundle in 5 (b) - Parachute mechanism of seed dispersal
‘dlCOt root. : a [ _ Sl o :
' Tfegna BB . : ,
fj;f P @) Embryo sac (SHRIR)

{c) Who discovered the process of ‘double .{d) Anaualinings l__”)

'femhzatlon % ; . _
3 Answer any three of the following :

f‘% TSI effedl (it Rw FRMe 2 5x3=15
(d) What type of fruit does not bear seeds ? | TS G 1 R ffAhT e ﬁ‘l"’ﬁ
& 4399 T 1S 4199 ql 7{@ qAH(q ? _ bt ‘ (a) Difference between the internal

. : _ structure of dicot and monocot stems.
fe) What type of endosperm is found in

wheat ? | , feTieof @ o @[Tl Sfeve wles

SIEITS 5 49T TR (oIl A 2 SIS ofdere =il |
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(b) Write briefly on heartwood and sap-
wood. : :

AT Y * PRR! PP T 53 @1
(¢) Anatomical features of xemophytes.

TG g oo afoe |

(d) Describe * the important theories
relating to the organisation of root
Napexrae
I HEONR (0O Gow \93@@‘91‘1( TGIVHLZ
90t 541 |

(e) What is double fertilization ? Write °

briefly about the significance of double
fertilization.’

- 2 B-Resme. SR e
farat | |

4. -Answer any three of the following :
a7 10x3=30

were ﬁmml%ﬁﬁ‘l?%@ﬁﬁns

(a) What is meristematic tissue ? How are
they classified ? Write briefly about

them. - 242+46=10
oles w1 7 W @fferm @ =
R ? A9 RAW 59 il | ‘
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(b) Describe the extrastelar secondary
growth in dicots with suitable
illustration.  Distinguish  between
fascicular and interfascicular

cambium. N30

PR Rl Tere Flee (@[ ReTSH
(Tgfa 3 =¥ FRgER wR ZOR-
(TN (R WEe 2 AR
ferlt | g -

(c) Describe about the contrivances for
cross pollination in plants. j

- BST RIAPR AE Teme A (SRR
T =

(d) How are functional megaspore and
embryo sac formed ? Describe various
types of embryo sac developments in
angiosperms with neat diagram.

2+8=10

PR W@ % TN FET o0 2
Aoric Sferm [fem awie TR st
Aferaie Ra oo 3@ =t

(e). What is permanent tissue ? Describe

different types of simple tissues with
neat diagram. 2+8=10
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N T 52 e [few eoma wwe v OPTION - B

y il ﬁ?ﬁl ' : - ( Economic Botany and

(/) What is polyembryony ? Who first : - Plant Biotechnology)
reported (e plengmengniot . Paper : BOT-HG-4026
polyembryony ? Discribe briefly about

the cleavage polyembryony with neat : 1. Answer the following questions :  1x7=7
diagram. 2+1+7=10 LS W'w ol ¢
el B2 (@I AU e [ ' : i
. ; : (a) What is the scientific name of gram ?
e e Rweel Iz e 19 w4 | - | | - _ :
: : AR (@@ T {2

() What is the main alkaloid found in
black pepper ?

l } chawaWﬁ«mM1
- ‘ (¢) Groundnut belongs to which family ?
BRI o ol oo
(d) Who is known as father of tissue
culture ?
TR T T P TN A
(e) What is gynogenesis ?
stz e f5e
()i Write the full form of RFLP.
9.1 I [ B
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(g9 What is DNA ﬁngerprintirig ?
.qm.9. Reealisfafos &2

Answer the folloWing questions briefly :
: . 2x4=8

woTe fral 2R Bl oI ¢
(a) What is endosperm culture ?
ST el 2
(b) What is blotting technique ?
(c) What is RAPD marker ?
95944 fE. aFT [e
(d) What is ELISA test ?
' ‘afere ST
Write short notes on the following : (any
three) ' ‘ ‘ 5x3=15
woro TAPTRE @7Re 5y (BRel 1 2 (R
fefain) ' ' | |

(a) Origin and economic importance of
Soybean '
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vl Teoife o o @3

- (b) Scientific names and uses-of clove and

black pepper

R O G TS AN O TR
(c) Micropropagation |

TR

(d) DNA fingerprinting technique and its
uses :

Baqa. feoffe:  ofFn o= @R
(e) Reverse transcriptase—PCR

R’ (GRiritr— 5 .

Answer the following questions : 10x3=30

o fmt e e Rl ¢

(a) Define centre of origin. Describe
Nikolai Vavilov’s centres of origin with
examples of the- crops. 1+9=10
sl e wewl ol | e eifeerss
Tesifeq (FErgerig *PTE SnigerTg e |
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.(b)

o'r / e o -
‘Discuss the centre of origin,.scientific

name, processmg and uses of fea.
1+145+3=10

ox G ,

S

Describe - the in' vitro pathways  of .

gynogenes1s and their application.
6+4=10

: '-@w%«q@ammmm

(c)

ﬁmmﬁtmﬂ R

Oor / &4

Describe the process of embryo culture
and their practlcal apphcatlon

acﬁmwn

What -is SDS-PAGE techmque ?

Describe the southern and northern

blotting techniques in electophore31s. .
‘ 149=10

R PR, TS foe T o T

| wﬁm«a@aﬁmaﬁwn

\g—-.. —

Or/WWf

. Describe the molecular DNA markers

— RAPD, .RFLP and SNPs

‘Awt‘fﬁ?ﬁﬁ@a TR — TR AP, Iy
G AT asmﬁw@ R feon
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